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WANNA SKIP STONES 7

Review of Solving Quadratic Equations:

LETS SOWVE QUADRATIC
EQUATIONS INTHE SARD !

1. Factoring
1. Get zero on one side.
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2. Factor the other side.
3. Set the factors containing the variable equal to zero, and solve.

2. Square root method

If (something)2 = number, then something = £+/number .

3. Completing the square

2
If x*>+bx=c, then add (gj on both sides to get a perfect square

on the left. Finish solving using the square root method.
4. Quadratic formula

—b++/b*—4ac
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If ax’ +bx+c=0:a=0, then x=



Factoring examples:
1. (2x+3)(x-2)=0

INTERNATIONAL FACTORING
2. 2x°—6x=0 ASSOCIATION

3. x*+6x=-8

4. 4x* +7 =16X

5. 33+ x*-12x—4=0



Square root method examples:
1. x*=9

2.3x* =21




Completing the square examples:

1. x> +8x=-15

2. x> =22+10x

3. x> +6x+13=0

4. 2x* -5x—-3=0




Quadratic formula examples:
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1. x> +4x-5=0 L/\/@ “1C+
X" +4X \//! o /

E (WHAT MAKES YoU THINK ) )

\ JFoRr ’ﬂ{ff JoB?

\ YOU'RE GUALIFIEP r""“ e~b*f %
2.3x*+8x+3=0 L

3. x> +1=x



Quadratic-like equation examples:

1. x*=3x*+2=0

2. (3x+2)" +7(3x+2)-8=0

3. (x2 —5x)2 +(x2 —5x) =12



The discriminant:

The discriminant of the quadratic equation ax® +bx+c =0 is b* —4ac.

If the quadratic equation has real coefficients, then

If b> —4ac > 0, then the equation has 2 real solutions.

Aww, how cute. He has

/ an imaginary friend!
& If b®> —4ac <0, then the equation has 2 imaginary solutions.
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If b> —4ac =0, then the equation has 1 real solution.

EXPLAINING THE ROOTS OF QUADRATIC
EQUATIONS WITH POSITIVE DISCRIMINANT

T j&
Always two there are; no more, no less



Discriminant examples: [Finding the Discriminant

Scrambler Puzzle
Activity

1. 4x* -12x+9=0

2. X2 —2Xx+4=0

FINALLY GLASS|IS
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3. 5x> —4x =10




